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SECTHN A (A0 mvarks)
Answer ALL the gueestaionsin ehiv section o the spunces provided.

Outline four sdvantages of elecingity ay o sonroe of power in the sociely,
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With the aid of o sketch, explaim the alternating corrent (AC) through a pure mdoctor,

L
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{4 marks)
Explain fwo uses of special b patieras m sy coded decimal, 4 marks)
Dretermime Lhe decmil equivalent Tor ench ol the tollowing number systems:
i F9& i {2 marks)
o
o
. S . e
iy L1000 1011, ¥ O {2 marks)
e .1_--_-1 - - 2 di
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Calculate each of the following hevadecimal anthmetic:
(1) EAG - 424; {2 marks)
Giy €1 -3101, (2 marks)
. B
i v
w02
i, A conductor wire of length 36 m has a resistivity of 6 x 107 €2 m and resistunce of 941
Dretermme the:
{1 cross sectional area of the wire; (2 mnrks)
(i) conductivity of the wire. ) ) (2 imarks)
AR\ Ll
I i
s Explain two methods used to epcode Binary Coded Decimal (BCLY) mumbers. (4 marks)

1920/103 3

Turn over




-

i

easytvet.com

Using twa's complement, delermine ROO0 1000, LEID 1T, {4 morks)

With the aid of & disgram, outling a typical construction amd lerminals of a NI'N transistor

showing the flow of current, (4 marks)
Mraw o truth tble fora XNOR gate. (4 marks)
& |
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SECTHIN B (60 marks)

A veer gmy FOIWER guestions i this section in the spraces provided,

I ia) {1} Eaplain two disadvaniages of IMRAM as used in compulters. {4 marks)

(i) Difterenbiate bebween ford disk and ootical dive as vsed in compulers,
14 marks)

12— 14 = T

thy i) Dietermine the excess-3 equivalent of the number 1658, {3 marks)

e R T ——
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-':“;-\-\-L ..-_I-_l:ll I_I..I_ f A

() A potental difference of 5V 5 connected (o a anilorm resistance wire of length
0% moand cross sectional area of #x 10" m” with 0.06 A of current Dowing
theough the wire. Dietermine resistivity of the wire, (d marks)

1920/ 103 5 Turn syer




easytvet.com

12 {4} {1} Chitline theee concenteation of Taitiee dielvots that afect the low lemperatre

resistivity. {3 marks)
W) Explamm twa types of charges that could be found nan atom, (4 ma ks)
ihy i Using BCD, evaluomte 127 -+ 781, {3 marks)
— - S i — ,: «\ =
e
a
TS
: L

(i} Figure | shows an arangement of logical gates. Constract a truth table showing
the outputs O, P oand ©) (5 marks)

Figure |
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13 {a) (1) Dreww an typieal graph showing a phasor diagiam of a sinusoidal wavefonn.
{4 marks)
(ip Ao ac cwrent of 30 mA Coillinmps) s connected o 6L pesisior B
Pretermine e
l. veltage of 4 Y peak (masimum g, (3 mrks)
i I'l'll‘.ll:"‘,\;::l
. R _,T .
— I PO
i
¥ i
. Ju
"q:] '| ..l";l"'.'
| 1] power 0 B in mW (milliwatts). __L v A, [ F marks)
= T v
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Ihi stmplify each of the following bnaey aonilmene operstons gooang vour sswer in ocial

evpuivalent
AT TLOG 1000 1 banT 1108 (3 mart %)
(i LInonre - 1101 o000, (3 marks)

o e — ¢ — —

14 el i) Uithine twa ways of coping with challenges of emerging irends m eleciromes.
(2 marks}

L} DifTerentiate betwoen sihoom and gormaninm sennconductor matermls, 1
L 4 marks)

1920/103 ]




-

-

i, current across he resistor By, ea Eyalvr%ir:ﬁpﬂm

(i) (i) Chitline three characteristics ol a pure seonconductor (3 marks)

—_—

iy Using the E-map, simplily the funcuon:

Ym(l, 3,579 10,11, 15) ' {5 miarks)
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({51 (i A Techimicinn at Tepes Commpany Ll intends o familiarize e employees on
the different examples of RUMs used m companers. Chithine three examples
- g that conlid be rentioned, {3 marks)
(R}

A electnenl door s controdled by thres switehes A, Foand O, The door opens

whenever switches A, Boand C arc o the some positions. When A and O are in
saine positions, te door opens an condition dat switeh 13 I gk,

Diraw o truth table o represent the snfurmation.

14 marks)
(AT T
'..\1\'5 : ’J ‘l: L
o e, N | g =i
i llfl.-\_""l.-"—— '-:“ : x
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